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What is meant by Intrinsic Semiconductor? Give
Examples

HdRSE JITTeh A FIT A9y & 3eTeoT
AIELY

What do you Understand by Fermi Energy? Show
that the Fermi Level in an intrinsic semiconductor
lies just in the middle of the forbidden energy gap.
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For pure germanium, the forbidden eneray gap is
0.72eV and A is 4.28 x10*' per m*k*>. Calculate the
electron-hole pair concentration in it at 300K
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How is PNP transistor made? Explain its operation

with the help of proper diagram.
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Maximum Marks: 1.5

Note: Attempt any three questions. Each question carries 5

marks.

UNIT - 1II

1.  What do you understand by optical fiber? Explain its
structure and working method.

2. What are different modes of an optical fiber?
Differentiate between single mode and multimode

fiber.

3. How do light propagate inside optical fiber? Derive an
expression for numerical aperture of fiber?

4. What i1s pulse dispersion? Explain Intermodal and
Intramodel dispersion.
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. Part A and B consist of very short answer type questions which are to be answered in

onc or wo senlences.
. Part C (Short answer type) should be answered within the word limit 200-250.
. Part D (Long answer type) should be answered within the word limit 400-450.
UNIT — 111
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What is duality principle in electrical?
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State reciprocity theorem.
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State maximum power transfer theorem and prove:
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Calculate the current in load ‘R,’ of the given circuit using
Thevenin’s theorem.
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Using the super-position theorem, find the current in branch ‘A-B’
ol the given circuit.
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Calculate the current in the given load ‘A-B’ using Norton’s
theorem.




